

IROP. 2. Lindeberg-Levy CLT. - let $\{Z_{t}\}\)$ be a sequence of IID random scalars with $E[z_{t}] := \mu$ and $Var[Z_{t}] := \sigma^{2} for 0 < \sigma^{2} < b0$. - Then, $TT(\overline{Z}_T - \mu)/\sigma \xrightarrow{d} N(0,1) \text{ as } T \rightarrow bO$. 1000f. Can de using "characteristic functions". But a simpler version using moment-generating functions is explained in excruciating detail in my PAIN IN THE ASYMPTOTICS D

Proving distributional result.

$$\hat{\beta} - \hat{\beta} = (x'x)^{-1} (x' \in x) \quad ok$$

$$\hat{\beta} - \hat{\beta} = (x'x)^{-1} (x' \in x) \quad ok$$

$$\hat{\beta} - \hat{\beta} = (\frac{x'x}{s})^{-1} (\frac{x' \in x}{s}) \quad ok$$

$$V_{S}(\hat{\beta} - \hat{\beta}) = (\frac{x'x}{s})^{-1} (\frac{x' \in x}{s}) \quad box \ bo prove, their converges on extractionation
$$x' \in = (\frac{\pi' \cdot x}{s}) (\frac{\epsilon}{s} \cdot x)^{-1} (\frac{\pi' \cdot \epsilon}{s}) \quad box \ bo prove, their converges on extractionation
$$x' \in = (\frac{\pi' \cdot \epsilon}{s}) (\frac{\epsilon}{s} \cdot x)^{-1} (\frac{\pi}{s} \cdot \epsilon) \quad box \ bo prove, their converges on extractionation
$$x' \in = (\frac{\pi' \cdot \epsilon}{s}) (\frac{\epsilon}{s} \cdot x)^{-1} (\frac{\pi}{s} \cdot \epsilon) (x \cdot \epsilon) \quad box \ b$$$$$$$$

Variance
Var
$$\left(\frac{X'\epsilon}{VA'}\right) = \begin{pmatrix} \frac{1}{h} Var(\Sigma x_i, \epsilon_i) \\ \frac{1}{h} Var(\Sigma x_i, \epsilon_i) \end{pmatrix}$$

* We need to show that the variance are
fur to , so we can use the cartial limit below
fur to , so we can use the cartial limit below

fur to , so we can use the cartial limit below

 $\frac{1}{h} Var(\Sigma x_i, \epsilon_i) + \frac{1}{h} \left[Var(x_i, \epsilon_i) + \dots + Var(x_n, \epsilon_n) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_i) + \dots + Var(x_n, \epsilon_n) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_i) + \dots + Var(x_n, \epsilon_n) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_i) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + X_{h} Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon_{h}) + \dots + Var(\epsilon_{h}) \right]$
 $= \frac{1}{h} \left[\frac{1}{h} Var(\epsilon$

But us this case we are not getting a rult

$$\frac{\chi}{\sqrt{2}} = \frac{1}{\sqrt{2}} N(0, 7, 2x)$$



We need to assume the following:
A.1
$$\{(X'_{t}, z_{t})\}$$
 is an IID Lequence
A.2.a $E(X_{t}z_{t}) = 0$
A.2.b $E(\{X_{t}, z_{t}\}^{2}\} < b0, j=1,...,k$
A.2.c $V := Var((\tau^{1/2}X'_{t}))$ is P.D.

PROP 3. $\nabla T \left[\pm \sum_{i=1}^{2} \alpha' \sqrt{x_{i}} \sum_{k=1}^{2} \frac{1}{2} N[0,1] \alpha T \rightarrow N. \right]$ Proof. Let $Z_{E} := a' \overline{V}'^{2} X_{E} \Sigma_{E}$ - Zt is IID due to A.I. - E[Z6]= 0 due to A.2.a - Var(22)=1 due to A.Z.b and A.Z.C, noting ||a||2=1 The required result follows from 9ROP. 2.

THEOREM 1. JT + V X'2 JNO, IK) AST-100. Proof. Recognise that Let $b(T) := \sqrt{T} \pm \sqrt{X'_{2}}$ and the required result follows from RoP.1. \Box